Morvan Hat and Cowl
Hat size: 57/60cm of hat size

Size of the cowl : large or near the neck, depending on the
option chosen for the model near the neck, only 5 balls are
necessary to achieve the set.

Material :

6 balls of Urga Fonty

Circular needles: 4mm et 7mm.

A stitch marker, a cable needle, a row counter

Points and abbreviations :

k: knit

p: purl

K2tog: knit 2 together

P2tog: purl 2 together

st : stitch

SKP: slip 1, knit1, pass over.

m1 : make 1

R: round

* ... *. * Repeat this pattern * as many times as necessary.

(...) x...: repeat the motive enters bracket as often as hit is indicated.

Twists :

T1: 4 st LC: slip 2 st. to cable needle and hold to front, k2, k2 from cable needle
T2: 4 st RC: slip 2 st. to cable needle and hold to back, k2 , k2 from cable needle
Ribs 2/3 : repeating the following pattern on all rounds: *k2, p3*

Gauge ( stocking stitch, needles 4mm, 10cm/10cm) :19st/32rows.

The hat : Cast on 90 st on needles 4mm, put stitch marker to materialize the beginning of round and work 10 cm

in ribs 2/3. Increase:

R 1: (k3, m1) x30. (= 120st)

R2 and 4 : *k*
R 3:(k30, m1) x4. (=124st.)
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Then repeat 7 times the following pattern:

R1and 5: *p1, k8, p1, (k2, p1, k1) x5, k1*

R2, 4 and 6 : *p1, k8, p1, k1, (p3, k1) x5*

R3:*p1, T1, T2, p1, (k2, p1, k1) x5, k1*

After 7 repetitions of this pattern, about 26 cm, start to decrease:
R1:*p1, k8, p1, (k2, P2tog, k1) x5, k1* (=104st)

R2:*p1, k8, p1, (k1, p1, k1) x5, k1*

R3:*p1, T1, T2, p1, (k1, p1, k1) x5, k1*

R4 : *p1, k8, p1, (k1, p2) x5, k1*

R5: *p1, k8, p1, (k1, p1, k1) x5, k1*

R6 : *p1, k8, p1, (k1, p2) x5, k1*

R7 : *p1, k8, p1, (k1, P2tog) x5, k1*. (=84st)

R8 : *p1, k8, p1, (k1, p1) x5, k1*

R9:*p1, T1, T2, p1, (k1, p1) x5, k1*

R10: *p1, k8, p1, (k1, p1) x5, k1*

R11: *p1, k8, p1, (k1, p1) x5, k1*

R12: *p1, k2, SKP, K2tog, k2, p1, (k1, p1) x5, k1*. (=76st)
R13: *p1, k6, p1, (k1, p1) x5, k1*

R14 : *p1, k6, p1, 4K2tog, k1, p1, k1*. (=60st)

R15 and 16: *p1, k6, p1, k5, p1, k1*

R17 : *p1, k6, p1, k1,SKP, K2tog, p1, k1*. ( =52st)

R18 : *p1, k6, p1, k3, p1, k1*

R19: *p1, k1, SKP, K2tog, k1, p1, SKP, k1, p1, k1*. (=40st)
R20 : *p1, k4, p1, k2, p1, k1*

R21 : 20K2tog

R22 : k20

Cut the thread about 30cm long, put it on a yarn needle, passing the needle through the 20 remaining sts,
remove the circular needles, tighten up the cap board in the wire mesh, tighten again pass the thread in the cap
and back, cut it short. Bring in the threads and cut them short.



The large cowl :

Cast on 100 stitches on needles 7m with double threads, put the stitch marker to materialize
the tour begins. Knit 1 round, purl the next round and then knit following the pattern 11 times:

R1 and 5: *p2, k8, p2, (k2, p1, k1) x3, k1*
R2, 4 and 6 : *p2, k8, p2, k1, (p3, k1) x3*
R3:*p2, T1, T2, p2, (k2, p1, k1) x3, k1*
At the end of these 11 repetitions, do:
R1: *p2, k8, p2, (k2, p1, k1) x3, k1*

T2 :*p2, k8, p2, k1, (p3, k1) x3*

T3:*k*

T4 : *p*

T5 : bind off flexibly

Bring in the threads and cut them short.

Cowl near the neck

Cast on 76 stitches on needles 7m with double threads, put the stitch marker to materialize
the tour begins. Knit 1 round, purl the next round and then knit following the pattern 11 times:

R1and 5: *p1, k8, p1, (k2, p1, k1) x2, k1*
R2, 4 and 6 : *p1, k8, p1, k1, (p3, k1) x2*
R3:*p1, T1, T2, p1, (k2, p1, k1) x2, k1*
At the end of these 11 repetitions, do:

T1: *p1, k8, p1, (k2, p1, k1) x2, k1*

T2 :*p1, k8, p1, k1, (p3, k1) x2*

T3:*k*

T4 : *p*

T5 : bind off flexibly

Bring in the threads and cut them short.

Note: If you want a pleasant change: you can reverse the twists, and then T2 to T1 instead of the reverse.



